## Requisition

Supplier:	AMAZON.COM 000006424 BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108 United States email:	Req ID 00010 Requi AMAZO Reque	48199 sition N.COM ster	Date 02/05/20 Name:	Page
Ship To:	RECEIVING 10 COLLEGE PARKWAY FOLSOM CA 95630-6798				EB-2024
Line-Schd	Description	Quantity	UOM	Price	Extended Amt Due Date
1-1	MOD PODGE - 16OZ	3	EA	6.98	20.94 <b>02/12/2024</b>
2-1	FOAM BRUSH SET - 50 PACK	2	EA	12.99	25.98 <b>02/12/2024</b>
3-1	ROUND PAINT BRUSHES - 50 PCS	3	EA	6.59	19.77 02/12/2024
4-1	8MM METAL DOUBLE LOOPS MINI RING CONNECTORS - 500 PCS	1	EA	6.98	6.98 02/12/2024
5-1	IRIDESCENT ACRYLIC PAINT SET OF 18 CHAMELEON COLORS - 20Z BOTTLES	1	EA	23.39	23.39 <b>02/12/2024</b>
6-1	METALLIC ACRYLIC PAINT - 30 COLORS / 20Z BOTTLES	1	EA	27.98	27.98 <b>02/12/2024</b>
7-1	MOD PODGE - MATTE	3	EA	4.71	14.13 02/12/2024
8-1	PASTEL ACRYLIC PAINT SET - 30 COLORS / 10 PAINT BRUSHES	1	EA	25.98	25.98 <b>02/12/2024</b>
9-1	10 MM DOUBLE LOOPS RING CONNECTORS - 200 PCS	1	EA	6.98	6.98 02/12/2024
10-1	FLAT PAINT BRUSHES - 100 PCS	3	EA	9.75	29.25 <b>02/12/2024</b>

		Sub-total Est. tax
Total Requisition Amount:	216.98	

ORDER # 113-5226647-7113854 113-2453201-3011421

<u>BU</u>	Acct	Fd	Org	Prog	Sub	<u>Proj</u>	<u>Amount</u>
GENFD	4300	12	FL.VI.SWPA	09000	00000	487Z	201.38

Purchases Charged to Catagorical Programs, Grants or Special Project.

Program Name: STrongworkforce Program Project Grant: 487Z Program Director: Chris Morris Program Goal: Eligible supply purchase

Approval Signature	Approval Signature	Approval Signature	



## Details for Order #113-5226647-7113854

Paid By: LOS RIOS CCD Placed By: Amira Saati Order Placed: February 5, 2024 Amazon.com order number: 113-5226647-7113854 Order Total: \$67.05

Business order information

Requisition number: 0001048199

Not Yet Shipped			
<b>Items Ordered</b> 2 of: Artlicious Foam Brush Set - Pack of 50 Disposable, 1-inch Sponge Paint Brushes for Acrylic Painting, Staining, Varnishes & DIY Craft Projects - Art Supplies Sold by: Sorillo Brands <u>(seller profile)</u> Business Price Condition: New	<b>Price</b> \$12.99		
<ul> <li>1 of: Uniclife 8 mm Metal Split Jump Rings Double Loops 500 PCS Mini Ring Connectors for Jewelry Necklaces Bracelet Earrings and Crafts Ornament</li> <li>Sold by: Uniclife (seller profile)</li> <li>Business Price</li> <li>Condition: New</li> </ul>	\$6.98		
3 of: DECYOOL 100 Pcs Flat Paint Brushes,Small Brush Bulk for Detail Painting,Nylon Hair Brushes Acrylic Oil Watercolor Fine Art Painting for Kids,Children,Students,Starter,Teens, Adults, Artist Sold by: Jason Woo <u>(seller profile)</u> Business Price Condition: New	\$9.75		
Shipping Address: FOLSOM LAKE COLLEGE - RECEIVING 10 COLLEGE PKWY FOLSOM, CA 95630-6798 United States			
Shipping Speed: FREE Prime Delivery			

Payment information				
Payment Method: Pay by invoice	Item(s) Subtotal: \$62	2.21		
Shipping & Hand	Shipping & Handling: \$0	0.00		
	Total before tax: \$62	2.21		
	Estimated Tax: \$4	4.84		
	Grand Total: \$67	7.05		



## Details for Order #113-2453201-3011421

Paid By: LOS RIOS CCD Placed By: Amira Saati Order Placed: February 5, 2024 Amazon.com order number: 113-2453201-3011421 Order Total: \$149.96

Business order information

Requisition number: 0001048199

Not Yet Shipped				
Items Ordered	Price			
1 of: Shuttle Art 40 Pack Pastel Acrylic Paint Set, 30 Colors, 60ml/2oz Bottles, High Viscosity, Water-proof Paint With 10 Paint Brushes for Painting &Crafting on Canvas, Rock, Ceramic, Fabric Sold by: Shuttle Art (seller profile) Business Price Condition: New	\$25.98			
3 of: Mod Podge CS11302 Waterbase Sealer, Glue and Finish, 16 oz, Matte Sold by: Amazon.com Condition: New	\$4.71			
1 of: ABEIER Iridescent Acrylic Paint, Set of 18 Chameleon Colors, 2 oz/60ml Bottles, Color-shifting, Non-Toxic, High Viscosity, Blendable, Paints on Rocks Crafts Canvas Wood, Fabric, Ceramic & Stone Sold by: abeier art (seller profile) Condition: New	\$23.39			
3 of: 50Pcs Round Paint Brushes Bulk, Anezus Small Paint Brushes Classroom Brushes Set for Kids Model Canvas Painting Face Acrylic Watercolor Oil and Crafts Sold by: Anezus Direct (seller profile) Condition: New	\$6.59			
<ul> <li>3 of: Mod Podge Gloss Waterbase Sealer, Glue (16-Ounce), CS11202 Finish, 16 oz</li> <li>Sold by: Amazon (seller profile)</li> <li>Business Price</li> <li>Condition: New</li> </ul>	\$6.98			
1 of: Shuttle Art 30 Colors Metallic Acrylic Paint, Artist Grade Metallic Paint in Bottles (60ml, 2oz), Rich Pigmented, High Viscosity, Non-Toxic for Artists, Beginners on Rocks Crafts Canvas Wood Fabric Sold by: Shuttle Art (seller profile) Business Price Condition: New	\$27.98			
1 of: LASSUM 200PCS 10mm Double Loops Round Split Jump Rings Wire Connector for Jewelry Making, Silver Sold by: LASSUM (seller profile) Condition: New	\$6.98			
Shipping Address: FOLSOM LAKE COLLEGE - RECEIVING				

10 COLLEGE PKWY FOLSOM, CA 95630-6798

## **Payment information**

Payment Method: Pay by invoice Item(s) Subtotal: \$139.17 Shipping & Handling: \$2.99 Promotion applied: -\$2.99 ..... Total before tax: \$139.17 Estimated Tax: \$10.79 ..... Grand Total: \$149.96

To view the status of your order, return to Order Summary .

Conditions of Use | Privacy Notice © 1996-2020, Amazon.com, Inc.